107!

1072

107

1= .
TTVT[TTTI[TT

0.5

Do 4

ulPt
Std Dev 1.991
Constant 0.06248
Mean —0.09396
Sigma

pul
Std Dev 1.632
Constant 0.06812
Mean -0.09823
Sigma

1.065

210 -8 =6 -4 —2 0 2

=== DOQM_VUUUI_ROUU0U00UUI__Global
o= DOM V0001 R0O00000001 Global

4 6 8 10

[ pull of goverp parameter |

ulfQover,
Std Dev 2.064
Constant 0.05949
- Mean .0321
10 1:_ """ Sigma
F - pu'I:I'Qover.p
N Std Dev 1831
Constant 0.06781
o Mean 0.06076
Sigma 1.024
(O AR | IS T :
107
107
B E
© 15F :
v F .
o » .
1= h !
[* : : “e® .
0.5C i e el . . .
-10-8 6 4 -2 0 2 4 6 8 10

__ CMSSW_CKinoCutZ_RECU
CMSSW _mknocut2 RECO

[ pull of @parameter |

pultPhT
Std Dev

107}

1072

1073

10

Ratio

Constant
Mean
Sigma

Constant

<

Mean
Sigma

1086 4 20 2 32

[ pull of dxy parameter

6 8 10

107}

1072

Ratio

Std Dev 2.169
Constant 0.05529
Mean -0.06187
Sigma 121
H H H |
pullDxy
Std Dev 2.009
Constant 0.05625
Mean B
Sigma

[ pull of 6 parameter |

107}

1072

107

Ratio

15

pullTheta

Std Dev 1.34

Constant 0.06913

Mean -0.01753

Sigma 1.085
pullTheta

Std Dev 1.563

Constant 0.06752

[ pull of dz parameter

05 6 4 70 2 4 6 B 10

pullDz
Std Dev 1.301
Constant 0.07591
- Mean —0.0004069
O R LR R RRIERRL " ARREED Sigma 0.9687
E ulDzZ
r SaDe —Ta7E |
Constant 0.07847
o Mean 0.03973
Sigma 0.909
1072F et
-3
10°F
10
o F i A
‘c—U' -
1.5
4 [
T
-10 -8 -6 -4




	Contents
	Page 1


